Regular Geometry

HNING ANYIE MGASUPCS

Dlrectlons Find the missing measure in each figure. Keep angie relationsh|ps in mind,
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5. £1 and £Z are vertical angles. If the measure of 22 is
105°, find the measure of 21.
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6. 2A and £8 are complementary angles. If the measure
of £4is 42°, find the measure ‘measure of ZB.

7. 2P and 20 are SUWV angles, If the measure

8. 21and 22 are a?finéa.r pair. If the measure of 21 is
113°, find the measure of LZ.

of £Q is 64°, find the measure of £P.
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Using Algebra to Solve for Missing Measures

3. If mePQT = 3x +47 and m£SQR = 6x — 25, find the measure of £5QR,

3141 Ixryr= ox-2y| W4 2T
S bx }&f}R X = Qmi
10. fmeKNM = Bx — 5 and m2MN/ = 4x — 19, find the measure of ZKNM. y
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11. 2R and £5 are complementary angles. [f the 12, £P and 20 are suppfementary angles. if the
meR = 12x — 3 and the mesS = 7x — 2, find m«R, msP =4x 4+ land meQ = 9x — 3, find meQ.
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13. fmLDEG = 5x — 4, mLGEF =7x — 8, m4DEH = 9y + 5, find the values of x and v,
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14.1f AB 1 CD, msDCE = 7x + 2, and m2ECE = x + 8, find the measure of 2DCE.
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16. If MO bisects LPMN, mePMN = 74°, and m2OMN = 2x + 7, find the value of x.
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